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Five friends Vinay, Krishna, Rahul, Mahaveer, Lakshmi all
are from different colleges among BBD, SBD, BRD, DDU
and MGD but not necessarily in the same order. They also
study different subjects among Math, Arts, Accounts,
Operating system and Software engineering but not
necessarily in the same order. Mahaveer is from DDU and
he is a student of Operating system. The person from SBD
IS a student of arts but he is neither Vinay nor Lakshmi.
Rahul is an accounts student but he is neither from MGD
nor from BBD. Vinay is a math student but he is neither
from SBD nor from MGD.
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Five friends Vinay, Krishna, Rahul, Mahaveer, Lakshmi all
are from different colleges among BBD, SBD, BRD, DDU
and MGD but not necessarily in the same order. They also
study different subjects among Math, Arts, Accounts,
Operating system and Software engineering but not
necessarily in the same order. Mahaveer is from DDU and
he is a student of Operating system. The person from SBD
IS a student of arts but he is neither Vinay nor Lakshmi.
Rahul is an accounts student but he is neither from MGD
nor from BBD. Vinay is a math student but he is neither
from SBD nor from MGD.

Who is from BBD?

a0 & B9 gdr g2

1) Vinay / fa=1a
2) Lakshmi / @&t
3) Rahul / Tgd

4) Krishna / PO
5) None of these / Eﬁ'\ﬁ&ﬁ'ﬁc‘l—ﬁqﬁ
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Who is from BBD?

dIdSY § 19 uear g2

1) Vinay / fa=g
2) Lakshmi / &

3) Rahul / Mgd
4) Krishna / I
5) None of these / s‘—lﬁﬁaﬁs‘mqﬁ



IBPS PO ®1& &

Five friends Vinay, Krishna, Rahul, Mahaveer, Lakshmi all
are from different colleges among BBD, SBD, BRD, DDU
and MGD but not necessarily in the same order. They also
study different subjects among Math, Arts, Accounts,
Operating system and Software engineering but not
necessarily in the same order. Mahaveer is from DDU and
he is a student of Operating system. The person from SBD
IS a student of arts but he is neither Vinay nor Lakshmi.
Rahul is an accounts student but he is neither from MGD
nor from BBD. Vinay is a math student but he is neither
from SBD nor from MGD.

Rahul is from which college?

EA P I Bia I 87

1) DDU /
2) SBD /
3) BRD / SRSl
4) MGD / Qﬂ?rﬂtc?r

5)BBD / didlal
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Rahul i1s from h co

ﬂgﬁﬁ?ﬁmﬁﬁ 87

1) DDU /
2) SBD /
3) BRD / dl3Ral

4) MGD / THGItS!
5) BBD / dlidlS!

llege?



IBPS PO ®1& &

Five friends Vinay, Krishna, Rahul, Mahaveer, Lakshmi all
are from different colleges among BBD, SBD, BRD, DDU
and MGD but not necessarily in the same order. They also
study different subjects among Math, Arts, Accounts,
Operating system and Software engineering but not
necessarily in the same order. Mahaveer is from DDU and
he is a student of Operating system. The person from SBD
IS a student of arts but he is neither Vinay nor Lakshmi.
Rahul is an accounts student but he is neither from MGD
nor from BBD. Vinay is a math student but he is neither
from SBD nor from MGD.

Who is from MGD?

THSIEl ® I Ugdr 872

1) Vinay / fa=1a
2) Lakshmi / @&
3) Mahaveer / HETdR

4) Krishna / I
5) None of these / Eﬁﬁﬁﬁ'&c‘l—ﬁqﬁ
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Who is from MGD?

TGSl § B9 Uedl 82

1) Vinay / fag
2) Lakshmi / &&Ht
3) Mahaveer / HETAR

4) Krishna / I
5) None of these / s‘—lﬁﬁaﬁs‘mqﬁ
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Five friends Vinay, Krishna, Rahul, Mahaveer, Lakshmi all
are from different colleges among BBD, SBD, BRD, DDU
and MGD but not necessarily in the same order. They also
study different subjects among Math, Arts, Accounts,
Operating system and Software engineering but not
necessarily in the same order. Mahaveer is from DDU and
he is a student of Operating system. The person from SBD
IS a student of arts but he is neither Vinay nor Lakshmi.
Rahul is an accounts student but he is neither from MGD
nor from BBD. Vinay is a math student but he is neither
from SBD nor from MGD.

Which subject does Lakshmi study?

el S I1 fawy yedt 272

1) Math / TIford

2) Account / ThI3CH
3) Arts / 3Ted

4) Software engineering / AIUCdUR SR
5) None of these / sqgﬁaﬁ's‘mqﬁ
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Which subject does Lakshmi study?

deft o a1 vy gedt 22

1) Math / TIford

2) Account / EPhI3cH

3) Arts / 3McH 5 |

4) Software engineering / ﬂTanﬂTs'Gﬂﬁ‘CIﬁ’T
5) None of these / Eﬁﬁaﬁémqﬁ
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Five friends Vinay, Krishna, Rahul, Mahaveer, Lakshmi all
are from different colleges among BBD, SBD, BRD, DDU
and MGD but not necessarily in the same order. They also
study different subjects among Math, Arts, Accounts,
Operating system and Software engineering but not
necessarily in the same order. Mahaveer is from DDU and
he is a student of Operating system. The person from SBD
IS a student of arts but he is neither Vinay nor Lakshmi.
Rahul is an accounts student but he is neither from MGD
nor from BBD. Vinay is a math student but he is neither
from SBD nor from MGD.

Who studies arts?

3ATET B Ugdl 872

1) Vinay / fa=1a
2) Lakshmi / @&t

3) Krishna / U
4) Mahaveer / HEIAR . .
5) None of these / Eﬁﬁ&ﬁ'ﬁc Wt 781
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Who studies arts?

3TET B YgdT 872

1) Vinay / fag
2) Lakshmi / &t

3) Krishna / Il
4) Mahaveer /

5) None of these / s-—n?r@raﬁ's‘ W} gl
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Statement: EZW=A<BSsSSSsT<X
Conclusions:

. X >W

II.B > X

PYT-E2W=A<BSSsT<X
s
. X >W
. B > X

1) Only I follow

2) Only Il follow

3) Both | and Il follow

4) Either | or Il follows
5) Neither I nor Il follows



IBPS PO GI&d

Statement: EZW=A<BSsSSSsT<X
Conclusions:

. X >W

II.B > X

PYT-E2W=A<BSSsT<X
s
. X >W
. B > X

1) Only | follow

2) Only Il follow

3) Both | and Il follow

4) Either | or Il follows
5) Neither I nor Il follows
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Statement: U2T2M=W<sE2L=H
Conclusions:

lUZ2E

1. E> U

PY1:U2T2M=WS<SE=2L=H
s
L UZ2E
1. E > U

1) Only | follow

2) Only Il follow

3) Both | and Il follow

4) Either | or Il follows
5) Neither I nor Il follows
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Statement: U2T2M=W<sE2L=H
Conclusions:

lUZ2E

1. E> U

PY1:U2T2M=WS<SE=2L=H
s
L UZ2E
1. E > U

1) Only | follow

2) Only Il follow

3) Both | and Il follow

4) Either | or Il follows
5) Neither I nor Il follows
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Statements: M>N=0<P;0O>Q2R=U=sH
Conclusions:

.O>H

Il.H>M

PYI: M>N=0<P;0>Q2R=U<sH
forep:
.O>H
Il. H> M

1) Only | follow

2) Only Il follow

3) Both | and Il follow

4) Either | or Il follows
5) Neither I nor Il follows
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Statements: M>N=0<P;0O>Q2R=U=sH
Conclusions:

.O>H

Il.H>M

PYI: M>N=0<P;0>Q2R=U<sH
forep:
.O>H
Il. H> M

1) Only | follow

2) Only Il follow

3) Both | and Il follow

4) Either | or Il follows
5) Neither | nor Il follows
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Ten students Binni, Dhani, Disha, Geeta, Reema,
Renu, Ruchi, Sana, Tina, and Zara are seated In
two parallel rows with five people each such that
there is equal distance between the adjacent
persons and each person in one row faces the
person in the other row. In Row 1, Binni, Geeta,
Reema, Sana and Zara are seated facing South
and in Row 2, Dhani, Disha, Renu, Ruchi and
Tina are seated facing North not necessarily in
the same order. Reema sits at one of the extreme
ends. Sana sits second to the left of Reema. Tina
sits immediate left of the person who sits
opposite Sana. Two persons sits between Tina
and Dhani. Neither Binni nor Geeta sits opposite
Dhani. Geeta sits opposite Renu. Disha does not
sit at any extreme end.
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Reema sits at one of the extreme ends. Sana sits
second to the left of Reema. Tina sits immediate
left of the person who sits opposite Sana. Two
persons sits between Tina and Dhani. Neither
Binni nor Geeta sits opposite Dhani. Geeta sits
opposite Renu. Disha does not sit at any
extreme end.

Who sits third to the left of Reema?

AT & 18 3T TR T WR B 9647 872

1) Zara / GIRT
2) Binni / fo=it
3) Sana / HAl

4) Geeta / IG1H
5) Tina / ST
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Who sits third to the left of Reema?

ST & T15 3R IR RITH TR B4 98471 872

1) Zara [/ SIRT
2) Binni / fosit
3) Sana / ATl
4) Geeta / IGI

SRILEW, GEl|
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Reema sits at one of the extreme ends. Sana sits
second to the left of Reema. Tina sits immediate
left of the person who sits opposite Sana. Two
persons sits between Tina and Dhani. Neither
Binni nor Geeta sits opposite Dhani. Geeta sits
opposite Renu. Disha does not sit at any
extreme end.

How many person sits between Binni and
Geeta?

fasit ok a1 & fi fPaa safed 9ad &2

1) Two | &l

2) One / Bd
3) Three / o9

4) None / ﬂﬁéﬂﬁ

5) Four / dIR
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How many person sits between Binni and
Geeta?

fasit 3R it & oftar fosam safda dad &2

1) Two / &l

2) One / Td
3) Three / o4

4) None / H’ﬁ'scﬂ'{:pf

5) Four / dIR



Reema sits at one of the extreme ends. Sana sits
IBPS PO ¢I& s second to the left of Reema. Tina sits immediate left
of the person who sits opposite Sana. Two persons
sits between Tina and Dhani. Neither Binni nor Geeta
sits opposite Dhani. Geeta sits opposite Renu. Disha
does not sit at any extreme end.
Four of the five are alike in a certain way in the
following arrangement and thus form a group. Which
IS the one that doesn’t belong to the group?

Ui ¥ I IR Fafafed saawir ¥ e A e 9 e
O § 3R $H YR U HHG §1d 5 | 98 HI 3 SN
I9E A T8l 87

1) Zara / SIRI

2) Ruchi / &fd

3) Binni / fadit

4) Dhani / YT

5) Reema / ST
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Four of the five are alike Iin a certain way in the
following arrangement and thus form a group.
Which is the one that doesn’t belong to the
g(ou_§? .

gig H ¥ IR fafafed saawin | e A3 adfie
A TH 9 § 3R 3H UPR T UHE §91d &1 98
®IF 8 o g A Taftra 7e) 372

1) Zara / SIRT
2) Ruchi / =
3) Binni / fodi
4) Dhani / YT
5) Reema / T
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Reema sits at one of the extreme ends. Sana sits
second to the left of Reema. Tina sits immediate
left of the person who sits opposite Sana. Two
persons sits between Tina and Dhani. Neither
Binni nor Geeta sits opposite Dhani. Geeta sits
opposite Renu. Disha does not sit at any
extreme end.

Who sits opposite Zara?

WRT & ATHA DI d3dT 22

1) Dhani / YT
2) Tina / SIFT

3) Disha / fe=m
4) Ruchi / &fd

5) Renu / QT{[



IBPS PO GI&d

Who sits opposite Zara?

WRT & ITHA $I9 dodT 82

1) Dhani / YT
2) Tina / &9
3) Disha / fe=m
4) Ruchi / I
5) Renu / :Q'l{[
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Reema sits at one of the extreme ends. Sana sits
second to the left of Reema. Tina sits immediate
left of the person who sits opposite Sana. Two
persons sits between Tina and Dhani. Neither
Binni nor Geeta sits opposite Dhani. Geeta sits
opposite Renu. Disha does not sit at any
extreme end.

What is the position of Disha with respect to
Ruchi?

& day A fozn o Rufa s 82
1) Immediate left / fPedq I1@

2) Second to the right / {I‘%ﬁ@'ﬂ'ﬂ

3) Second to the left / dIU K
4) Immediate right / ®ead qIg
5) Third to the left / S8 I It
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What is the position of Disha with respect to
Ruchi?

S & o o fazm o) fRAfT Far 82

1) Immediate left / ﬁWFIHEIT\Q'
2) Second to the right / awli ﬁ;’ﬂ'ﬁ

3) Second to the left / dIU K
4) Immediate right / fi&edd grQ

5) Third to the left / STT | dIRASL
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In a code language

'life ends for some' is coded as 'eht nie fve sxVv'
'thing no matter for' is coded as 'tnd nie sev ele'
‘profit matter life thing' is coded as 'ele sxv fdc sev’
'some find thing' is coded as 'weo fve seVv*

'life ends for some' 3)3[ ‘eht nie fve sxVv' %Wﬁ

‘thing no matter for' &1 'tnd nie sev ele' %Wﬁ?ﬁﬁm\_ﬂ?ﬂ%

‘profit matter life thing’ Pl 'ele sxv fdc sev' & Wﬁ?ﬁ‘d

‘some find thing' &1 'weo fve sev' %wﬁ'@%ﬁ%mmm%



In a code language
|BPS PO a&q o 'life ends for some' is coded as 'eht nie fve sxv'

'‘thing no matter for' is coded as 'tnd nie sev ele'
‘profit matter life thing' is coded as 'ele sxv fdc sev’
'some find thing' is coded as 'weo fve seVv*

Which of the following could be coded as ‘ele’?
Frafafad 4 | fod ‘ele’ & U d Sifsa foar o1 G&dr 872

1) for

2) some
3) matter
4) life

5) thing
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Which of the following could be coded as ‘ele’?

fFafafad A @ f5d ele’ & =9 A pifsa fear s
qhdl 82

1) for

2) some

3) matter
4) life

5) thing



In a code language
|BPS PO a&q- \ 'life ends for some' is coded as 'eht nie fve sxVv'

'‘thing no matter for' is coded as 'tnd nie sev ele'
‘profit matter life thing' is coded as 'ele sxv fdc seV'
'some find thing' is coded as 'weo fve seVv*

What is the code for ‘no’?
'no’ & foIU Hie R 82

1) nie
2) fve
3) sev
4) tnd
5) weo
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What is the code for ‘no’?
'no' & foe wies AT 2?2

1) nie
2) fve
3) sev
4) tnd
5) weo



In a code language
|BPS PO a&q- o 'life ends for some' is coded as 'eht nie fve sxVv'
'‘thing no matter for' is coded as 'tnd nie sev ele'

‘profit matter life thing' is coded as 'ele sxv fdc seV'
'some find thing' is coded as 'weo fve seVv*

Which word is coded as ‘fdc’ in the given language?
&t 715 HTT § Y RTeg &l 'fdc' & U | Pe fhar a1 872

1) life

2) matter
3) thing
4) profit
5) ends
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Which word is coded as ‘fdc’ in the given
language”?

&t T8 YT ¥ fh T g &l 'fdc' & U | Pe foar
T 872

1) life

2) matter
3) thing
4) profit
5) ends



IBPS PO GI&d

In a code language

'life ends for some' is coded as 'eht nie fve sxVv'
'‘thing no matter for' is coded as 'tnd nie sev ele'
‘profit matter life thing' is coded as 'ele sxv fdc seV'
'some find thing' is coded as 'weo fve seVv*

How is the sentence ‘some matter’ coded in the language?

qTH ‘some matter’ B1 ®e HTT # fHT YHR forar o godn

8?2

1) ele fdc
2) fve ele
3) sev ele
4) nie eht
5) eht sxv
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How IS the sentence ‘some matter’ coded In the
language”?

dIH] ‘some matter’aﬂﬁﬁ Y91 ¥ 5y U
foraT <1 | 82

1) ele fdc
2) fve ele
3) sev ele
4) nie eht
5) eht sxv



In a code language
|BPS PO a&q- o 'life ends for some' is coded as 'eht nie fve sxVv'
'‘thing no matter for' is coded as 'tnd nie sev ele'

‘profit matter life thing' is coded as 'ele sxv fdc sev’
‘'some find thing' is coded as 'weo fve sev*

What is the code for ‘ends thing’?

‘ends thing' & T e FT 87

1) eht sev
2) eht sxv
3) sev sSxv
4) nie fdc

5) ele sev
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What is the code for ‘ends thing’?

‘ends thing' & 1T e T 87

1) eht sev
2) eht sxv
3) sev sxv
4) nie fdc
5) ele sev



S Statements:
IBPS PO d&d Some Cat is Tiger.

No Lion is Cat.
Conclusions:
|. Some Tiger being Lion is a possibility.
Il. All Cat is Tiger.
$2Hﬁ“’r %
dTd
%ﬁ?ﬁﬁﬁ‘eﬂ%l

. W%}ﬂ'\f@ﬁaﬁﬂm%l
||§:ﬁﬁ"ram%

1) Neither | nor Il follow
2) Either | or Il follow
3) Only Il follow

4) Only | follow

5) Both | and Il follow
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Statements:
Some Cat is

Tiger.

No Lion is Cat.

Conclusions:

|. Some Tiger being Lion is a possibility.
Il. All Cat is Tiger.

DY

PO ool STa Bl

aﬁ's‘:ﬁ?ﬁ*

|Waﬁr%

1. gt foeett

BRI

I I P HHIGAT B
Ci g

1) Neither I nor Il follow

2) Eitherlo
3) Only Il fo
4) Only I fol

r 1l follow
llow
low

5) Both I and Il follow
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Statements:

All Groups are People.

Only a Few People are Person.
Conclusions:

|. Some People are Groups.

Il. Some People are not Person.

DhY:

i ane
f@gm% 3
h%?ﬁﬂﬁ%ﬁ%l

1) Only | follow

2) Only Il follows

3) Both | and Il follow

4) Either | or Il follows
5) Neither | nor Il follows
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Statements:

All Groups are People.

Only a Few People are Person.
Conclusions:

|. Some People are Groups.

II Some People are not Person.

wwm

WF@"TW%%I

T
h%?ﬁﬂ%ﬂﬁ?l

1) Only | follow

2) Only Il follows

3) Both I and Il follow

4) Either | or Il follows

5) Neither | nor Il follows
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Eight persons Anu, Babli, Chirag, Dhiraj, Emilie, Farhan,
Gagan, and Hitesh live on different floors of a building of
eight floors such that the ground floor is numbered as 1
and the floor above the ground floor is numbered as 2 and
so on. Farhan lives just above Dhiraj. Babli lives 2nd to the
above of Chirag, who doesn’t live on an even-numbered
floor. Gagan lives on the 4th floor. Three persons live
between Farhan and Hitesh. Anu doesn’t live on the
topmost floor. Exactly two persons don’t live between Babli
and Emilie. Emilie doesn't live adjacent to Farhan. The
number of persons living above Chirag is not equal to the
number of persons living below Emilie.

TS TR 3, Iaait, FoRTT, iR, Tfredt, W™, T SR
%ﬂmwmmm%ﬁf‘waﬁﬁwm |9 ¥ e
D1 BT 1 aﬁvw%w%aﬁaﬁwzaﬁvwﬁaﬂ?ﬁ

SW R H O=T d1d dd R 8l
gl 8 | WA NY aa wmél%aﬁv RG]

I S U 9 UR 81 ¥gdl 81 g9l 3R
KL
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Eight persons Anu, Babli, Chirag, Dhiraj, Emilie, Farhan,
Gagan, and Hitesh live on different floors of a building of
eight floors such that the ground floor is numbered as 1
and the floor above the ground floor is numbered as 2 and
so on. Farhan lives just above Dhiraj. Babli lives 2nd to the
above of Chirag, who doesn’t live on an even-numbered
floor. Gagan lives on the 4th floor. Three persons live
between Farhan and Hitesh. Anu doesn’t live on the
topmost floor. Exactly two persons don’t live between Babli
and Emilie. Emilie doesn't live adjacent to Farhan. The
number of persons living above Chirag is not equal to the
number of persons living below Emilie.

How many persons live above Hitesh?

faawr & SR fPaa safed 38d 82

1) One /

2) Two /

3) Three / GG
4) Four / 9k
5) Five / Uld
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How many persons live above Hitesh?

faawr & SR fraa safda Igad 22

1) One /

2) Two /

3) Three / GIG|
4) Four / dIR
5) Five / UId
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Eight persons Anu, Babli, Chirag, Dhiraj, Emilie, Farhan,
Gagan, and Hitesh live on different floors of a building of
eight floors such that the ground floor is numbered as 1
and the floor above the ground floor is numbered as 2 and
so on. Farhan lives just above Dhiraj. Babli lives 2nd to the
above of Chirag, who doesn’t live on an even-numbered
floor. Gagan lives on the 4th floor. Three persons live
between Farhan and Hitesh. Anu doesn’t live on the
topmost floor. Exactly two persons don’t live between Babli
and Emilie. Emilie doesn't live adjacent to Farhan. The
number of persons living above Chirag is not equal to the
number of persons living below Emilie.

What is the sum of the floor number of Chirag and Emilie?

R 3R Ufirelt & dd & AT BT T T 872

1) 15
2) 11
3) 12
4) 13
5) 14
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What is the sum of the floor number of Chirag and
Emilie?

RRTT 3R Tfirell & ad 1 H=AT BT INT T 82

1) 15
2) 11
3) 12
4) 13
5) 14
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Eight persons Anu, Babli, Chirag, Dhiraj, Emilie, Farhan,
Gagan, and Hitesh live on different floors of a building of
eight floors such that the ground floor is numbered as 1
and the floor above the ground floor is numbered as 2 and
so on. Farhan lives just above Dhiraj. Babli lives 2nd to the
above of Chirag, who doesn’t live on an even-numbered
floor. Gagan lives on the 4th floor. Three persons live
between Farhan and Hitesh. Anu doesn’t live on the
topmost floor. Exactly two persons don’t live between Babli
and Emilie. Emilie doesn't live adjacent to Farhan. The
number of persons living above Chirag is not equal to the
number of persons living below Emilie.

Four of the five are alike in a certain. Which of the following
does not belong to that group.

afer & 9 9 P o o € | P 3 @ o e ew
g 9 A&t 781 g

1) Chirag / T
2) Gagan / T4
3) Babli / gl

4) Dhiraj / SR&T
5) Anu / 3Iq
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Four of the five are alike in a certain. Which of the

Ora 5 9 A i A g d § | Pt & 9w
1 39 IHg | H&fed a1 g

1) Chirag / TRRT
2) Gagan / A4
3) Babli / S9al

4) Dhiraj / HiR<
5) Anu / 39
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Eight persons Anu, Babli, Chirag, Dhiraj, Emilie, Farhan,
Gagan, and Hitesh live on different floors of a building of
eight floors such that the ground floor is numbered as 1
and the floor above the ground floor is numbered as 2 and
so on. Farhan lives just above Dhiraj. Babli lives 2nd to the
above of Chirag, who doesn’t live on an even-numbered
floor. Gagan lives on the 4th floor. Three persons live
between Farhan and Hitesh. Anu doesn’t live on the
topmost floor. Exactly two persons don’t live between Babli
and Emilie. Emilie doesn't live adjacent to Farhan. The
number of persons living above Chirag is not equal to the
number of persons living below Emilie.

Which of the following options have two persons living
between them?

frafafed 7 9 fod fasea & g gt safaa vgd 82

1) Hitesh and Dhiraj / fga=r siiv €iRwl
2) Babli and Emilie / St 3% ufdrelt
3) Gagan and Dhiraj / TH 3R diRel
4) Babli and Gagan / aﬂ?ﬁéﬁTTlTH

5) Both 3and 4 / 3 3R 4 Gl
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Which of the following options have two persons
living between them? .
ﬁq[%rf@aﬁﬁmﬁw%aﬂaa‘rmﬁrw%%?

1) Hitesh and Dhiraj / fga=r 3R diRw
2) Babli and Emilie / Sdeil 3N¥ el
3) Gagan and Dhiraj / TH 3MY gk
4) Babli and Gagan / Tﬁl?ﬁ\?rﬁ?'ﬂ'lﬂ

5) Both 3and 4 / 33X 4 g
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Eight persons Anu, Babli, Chirag, Dhiraj, Emilie, Farhan,
Gagan, and Hitesh live on different floors of a building of
eight floors such that the ground floor is numbered as 1
and the floor above the ground floor is numbered as 2 and
so on. Farhan lives just above Dhiraj. Babli lives 2nd to the
above of Chirag, who doesn’t live on an even-numbered
floor. Gagan lives on the 4th floor. Three persons live
between Farhan and Hitesh. Anu doesn’t live on the
topmost floor. Exactly two persons don’t live between Babli
and Emilie. Emilie doesn't live adjacent to Farhan. The
number of persons living above Chirag is not equal to the
number of persons living below Emilie.

Who lives immediately above Anu?

3 & fPedH HUR B Igdl 87

1) Chirag / T
2) Farhan / WpIgId
3) Hitesh /

4) Gagan / T4

5) Emilie / Tf¥ell
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Who lives immediatel

3 & FAPecan W

1) Chirag / TRRT
2) Farhan / Whgld
3) Hitesh / fga=

4) Gagan / T4

5) Emilie / Cf¥ell

above Anu?

gl 87



S There are seven members in the family. All the

IBPS PO &Y male members are married. Raghav is the
grandfather of Joy. Riya is the mother-in-law of
Kiara. Priti is the sister of Meena. Vijay is the son

of Priti. Meena is maternal aunt of Vijay. Joy is
married. The gender of Riya and Kiara is same.

U URGR ¥ 91 9eH o | forad 9t qou faarfed
8 | 394, SI1g & UgWIcx & | T, frarT &t 99

¢ | Wifa #i-1 &t 984 71 fooma ifd s1der g1 T
faorg 91 Aeaa =<} 81 Sirg Wi 8 | f¥am ok
fraRT @1 {7 99 gl
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There are seven members in the family. All the
male members are married. Raghav is the
grandfather of Joy. Riya is the mother-in-law of
Kiara. Priti is the sister of Meena. Vijay is the son
of Priti. Meena is maternal aunt of Vijay. Joy Is
married. The gender of Riya and Kiara is same.

How is Riya related to Joy?

far, o A fod R ddfid 872

1) Father / foar 5
2) Sister-in-law / ﬁlﬁ'\’-%’l-?ﬂ
3) Mother / HI 5
4) Brother-in-law / dgq¥-S-dl
5) None of the above / mﬁﬁﬁﬁﬁiqﬁ
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How IS R% a related to Joy?

f5d UepR Adttd g2

1) Father / LGl

2) Sister-in-law / ﬁlﬁ.’?'&"-‘-l—?ﬂ
3) Mother / AT

4) Brother-in-law / dg3-gd

5) None of the above / mﬁﬁﬁs‘?@



IBPS PO GI&d

There are seven members in the family. All the
male members are married. Raghav is the
grandfather of Joy. Riya is the mother-in-law of
Kiara. Priti is the sister of Meena. Vijay is the son
of Priti. Meena is maternal aunt of Vijay. Joy Is
married. The gender of Riya and Kiara is same.

How Is Meena related to Raghav?

A1, 199 A 59 UpR ddfdd g2

1) Mother / |t 5

2) Sister-in-law / ﬁlﬁ'\’%’l-ﬁ]

3) Brother-in-law / dgq¥-S-d1

4) Father / foar

5) None of the above / mﬁﬁﬁﬁﬁiqﬁ
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How is Meena related to Raghav?

i1, red A 5 R it 872

1) Mother / At y

2) Sister-in-law / ﬁth"\’-'&':[-ﬁ]

3) Brother-in-law / dgX-9-dTl

4) Father / fudr

5) None of the above / mﬁﬁﬁs‘?@



IBPS PO GI&d

There are seven members in the family. All the
male members are married. Raghav is the
grandfather of Joy. Riya is the mother-in-law of
Kiara. Priti Is the sister of Meena. Vijay is the son
of Priti. Meena is maternal aunt of Vijay. Joy is
married. The gender of Riya and Kiara is same.

Who is the wife of Joy?

W1 B Iell DI 22

1) Riya / f¥ar

2) Kiara / foarT

3) Priti / Wifd

4) Meena / HHAT

5) None of the above / mﬁ'@ﬁgqﬁ
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Who is the wife of Joy?

W1 B gl B9 82

1) Riya / ¥t

2) Kiara / foarT

3) Priti / Wifa

4) Meena / HHAT

5) None of the above / mﬁﬁﬁs‘?@
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Raman, Nikhil, Shweta, Sakshi, Soniya, Swati, and Vaibhav
were born in different years viz. 1984, 1987, 1992, 1995,
2000, 2006, and 2015 but not necessarily in the same order.
Equal number of persons are elder and younger than Swati.
Shweta was born in an even numbered year after 1987 but
before 2006. Only one person was born between Swati and
Raman. Only one person is elder to Vaibhav. The age of
Soniyais an even number. Sakshi was neither born in the
year 1992 nor is the eldest among all. Note: 1. All
calculations are done with respect to the present year, 2021
assuming the month and date to be the same as that of the
years of birth as mentioned above. 2. Each person is
assumed to be born on the same date and same month of

respe tj eye rs
el e, Wi 3R AU BT S 3aTT-
984 1987, 992 19951,?[2%00 20063?!?23151?[

“}% L T 2N
W\_:FF[ arr?m%I ;?;
i E%m; ﬁ%%f.ﬁ‘ )
g%gmeﬁv%r@ ww% q
aﬁ%@%w n—éﬁ ' %l m"rwé’r
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Raman, Nikhil, Shweta, Sakshi, Soniya, Swati, and Vaibhav
were born in different years viz. 1984, 1987, 1992, 1995,
2000, 2006, and 2015 but not necessarily in the same order.
Equal number of persons are elder and younger than
Swati. Shweta was born in an even numbered year after
1987 but before 2006. Only one person was born between
Swati and Raman. Only one person is elder to Vaibhav. The
age of Soniya Is an even number. Sakshi was neither born
In the year 1992 nor is the eldest among all. Note: 1. All
calculations are done with respect to the present year, 2021
assuming the month and date to be the same as that of the
years of birth as mentioned above. 2. Each person is
assumed to be born on the same date and same month of
respective years.

Who among them is the eldest of all?

a3 P g 8182

1) Sakshi / HTeft
2) Swati / T

3) Nikhil / g«
4) Vaibhav / dHd

5) None of these / Eﬁﬁﬁ'&cqﬁ
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Who among them is the eldest of all?

g 3 A o9 g9 981 82

1) Sakshi / areft
2) Swati / ¥Id

3) Nikhil / fAf@@
4) Vaibhav / dHd

5) None of these / Eﬁﬁaﬁiﬂﬁ
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Raman, Nikhil, Shweta, Sakshi, Soniya, Swati, and Vaibhav
were born in different years viz. 1984, 1987, 1992, 1995,
2000, 2006, and 2015 but not necessarily in the same order.
Equal number of persons are elder and younger than
Swati. Shweta was born in an even numbered year after
1987 but before 2006. Only one person was born between
Swati and Raman. Only one person is elder to Vaibhav. The
age of Soniya is an even number. Sakshi was neither born
In the year 1992 nor is the eldest among all. Note: 1. All
calculations are done with respect to the present year, 2021
assuming the month and date to be the same as that of the
years of birth as mentioned above. 2. Each person is
assumed to be born on the same date and same month of
respective years.

Who amo %the followin |s 29 years old?

° B 29

1) Sakshi / qreft
2) Swati / T
3) Raman / THA
4) Soniya / |if=an

5) None of these / Eﬁﬁﬂﬁ'&cqﬁ
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Who amon%the fO”OWia':]c? IS 29 years old?
fFrafafaa 9 J &9 29 a9 #1387

1) Sakshi / areft

2) Swati / IdTfd

3) Raman / YHA

4) Soniya / |if=dr

5) None of these / gﬂﬁﬁaﬁéqﬁ
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Raman, Nikhil, Shweta, Sakshi, Soniya, Swati, and Vaibhav
were born in different years viz. 1984, 1987, 1992, 1995,
2000, 2006, and 2015 but not necessarily in the same order.
Equal number of persons are elder and younger than
Swati. Shweta was born in an even numbered year after
1987 but before 2006. Only one person was born between
Swati and Raman. Only one person is elder to Vaibhav. The
age of Soniya Is an even number. Sakshi was neither born
In the year 1992 nor is the eldest among all. Note: 1. All
calculations are done with respect to the present year, 2021
assuming the month and date to be the same as that of the
years of birth as mentioned above. 2. Each person is
assumed to be born on the same date and same month of
respective years.

Who was born after Sakshi but before Soniya?

fPaeT o Heh P 1g Afch= TfaT 3 ugd g3 12

1) Swati / dIfd
2) Vaibhav / dHd
3) Shweta / &dT
4) Raman / IHA

5) None of these / Eﬁﬁﬁ'&cqﬁ
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Who was born after Sakshi but before Soniya?

fraeT o= A1elt & a1q afeT Jif-rar 3 uge gan
YT?

1) Swati / dTd
2) Vaibhav / dHd

3) Shweta / &dT
4) Raman / YHA

5) None of these / Eﬁﬁaﬁiﬂﬁ
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Raman, Nikhil, Shweta, Sakshi, Soniya, Swati, and Vaibhav
were born in different years viz. 1984, 1987, 1992, 1995,
2000, 2006, and 2015 but not necessarily in the same order.
Equal number of persons are elder and younger than
Swati. Shweta was born in an even numbered year after
1987 but before 2006. Only one person was born between
Swati and Raman. Only one person is elder to Vaibhav. The
age of Soniya Is an even number. Sakshi was neither born
In the year 1992 nor is the eldest among all. Note: 1. All
calculations are done with respect to the present year, 2021
assuming the month and date to be the same as that of the
years of birth as mentioned above. 2. Each person is
assumed to be born on the same date and same month of
respective years.

Who was born in the year 2000?

fraT 571 ad 2000 T g3IT UT?

1) Shweta / 1

2) Sakshi / el

3) Soniya / i<l

4) Swati / dTfd

5) None of these / Eﬁﬁﬁ'&cqﬁ



IBPS PO GI&d

Who was born in the year 2000?

fra®T o179 9 2000 T ga3IT UT?

1) Shweta / %T'lT

2) Sakshi / HT&l

3) Soniya / )

4) Swati / rfd

5) None of these / Eﬁﬁaﬁiﬂﬁ



